

# The Generalized $k$ - $\alpha$ -Miller-Ross Function

Rubén A. Cerutti

Departamento de Matemática, Facultad de Ciencias Exactas  
Universidad Nacional del Nordeste  
Avda. Libertad 5540, (3400) Corrientes, Argentina

Copyright © 2016 Rubén A. Cerutti. This article is distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

## Abstract

The aim of this short paper is to introduce the  ${}_{k,j}\mathbb{E}_t^{\alpha,\gamma}(\nu, \lambda)$  function given by the following series

$${}_{k,j}\mathbb{E}_t^{\alpha,\gamma}(\nu, \lambda) = (kt)^{\frac{\nu}{k}} \sum_{n=0}^{\infty} \frac{(\gamma)_{n+j,k} (\lambda t^{\frac{\alpha}{k}})^n t^{\frac{\alpha}{k}-1}}{\Gamma_k(\alpha n + \alpha + \nu)(n+j)!},$$

where  $(\gamma)_{n,k}$  is the Pochhammer  $k$ -symbol and  $\Gamma_k(z)$  is the  $k$ -Gamma function. This function is a generalization of the Miller-Ross function  $E_t(\nu, \lambda)$  and of the  $k$ - $\alpha$ -Exponential function  ${}_k e_{\gamma,\alpha}^{\lambda z}$ . We study various properties of the  ${}_{k,j}\mathbb{E}_t^{\alpha,\gamma}(\nu, \lambda)$  function including its fractional derivative.

**Mathematics Subject Classification:** 33xx, 26A33

**Keywords:** Fractional Calculus, Miller-Ross function, Mittag-Leffler function

## 1 Introduction and preliminary notes

As is well known, cf.[7] the Miller-Ross function  $E_t(\nu, a)$  is defined as the  $\nu$ -th integral of the exponential function i.e.

$$E_t(\nu, \lambda) = I^\nu e^{\lambda t} = t^\nu \sum_{n=0}^{\infty} \frac{(\lambda t)^n}{\Gamma(n + \nu + 1)}, \quad (1)$$

where  $\nu$  and  $\lambda$  are real numbers,  $\nu > 0$ , and  $I^\nu$  is the Riemann-Liouville fractional integral of order  $\nu$  given by the following expression

$$I^\nu f(t) = \frac{1}{\Gamma(\nu)} \int_0^t (t-x)^{\nu-1} f(x) dx, \quad (2)$$

where  $\Gamma(\nu)$  is the classical Gamma function.

Let  $\alpha$  and  $\beta$  be real numbers, the two parameters Mittag-Leffler function  $E_{\alpha,\beta}(t)$  is given by

$$E_{\alpha,\beta}(t) = \sum_{n=0}^{\infty} \frac{t^n}{\Gamma(\alpha n + \beta)}, \quad \alpha > 0, \beta > 0. \quad (3)$$

If  $\beta = 1$ , from (3) we obtain the one parameter Mittag-Leffler function

$$E_{\alpha,1}(t) = \sum_{n=0}^{\infty} \frac{t^n}{\Gamma(\alpha n + 1)}, \quad \alpha > 0. \quad (4)$$

From (1) and (3), the Miller-Ross function may be written as

$$E_t(\nu, \lambda) = t^\nu E_{1,1+\nu}(\lambda t), \quad (5)$$

where in the right hand member  $E_{1,1+\nu}(\lambda t)$  is the Mittag-Leffler of two parameters when  $\alpha = 1$ , and  $\beta = \nu + 1$ .

Other generalization of the Mittag-Leffler function is the one introduced by us in [6] given by

$${}_k E_{\alpha,\beta}^\gamma(\lambda t) = \sum_{n=0}^{\infty} \frac{(\gamma)_{n,k}}{\Gamma_k(\alpha n + \beta)} \frac{(\lambda t)^n}{n!}, \quad \alpha > 0, \quad (6)$$

where  $(\gamma)_{n,k}$  is the Pochhammer  $k$ -symbol (cf.[5])

$$(\gamma)_{n,k} = \gamma(\gamma + k)(\gamma + 2k)\dots(\gamma + (n-1)k),$$

and  $\Gamma_k(z)$  denotes the  $k$ -Gamma function (cf.[5]), a one parameter deformation of the classical Gamma function, that admit the following integral representation

$$\Gamma_k(z) = \int_0^\infty t^{z-1} e^{-\frac{t}{k}} dt, \quad k \in \mathbb{R}^+, z \in \mathbb{C}. \quad (7)$$

Let  $\alpha$  and  $\gamma$  be complex numbers that  $\Re(\alpha) > 0$ ,  $\Re(\gamma) > 0$  and  $k > 0$ . The  $k$ - $\alpha$ -Exponential function is defined (cf.[3]) as

$${}_k e_{\gamma,\alpha}^{\lambda z} = z^{\frac{\alpha}{k}-1} {}_k E_{\alpha,\alpha}^\gamma(\lambda z^{\frac{\alpha}{k}}) \quad (8)$$

where  ${}_kE_{\alpha,\alpha}^\gamma(\lambda z^{\frac{\alpha}{k}})$  is the  $k$ -Mittag-Leffler function given in (6).

In [2] formula (VI.1) we have introduced a new family of Mittag-Leffler type functions obtained by a slight modification of the  $k$ - $\alpha$ -Exponential function adding one more parameter. We have the family of functions

$${}_k\mathcal{E}_j^{k,\gamma,\alpha}(\lambda z) = \sum_{n=0}^{\infty} \frac{(\gamma)_{n+j,k} \lambda^n z^{\frac{\alpha}{k}(n+1)-1}}{\Gamma_k(\alpha(n+1))(n+j)!} \tag{9}$$

where  $\alpha, \gamma$  are complex numbers such that  $\Re(\alpha) > 0, \Re(\gamma) > 0, k > 0$  and  $z \in \mathbb{C} - \{0\}$ , and  $j \in \mathbb{N}_0$ . It can easy be seen that  ${}_k\mathcal{E}_j^{k,\gamma,\alpha}(\lambda z)$  reduces to the  $k$ - $\alpha$ -Exponential function given by (8) when  $j = 0$  is considered.

For the further development of this paper, we will need certain properties of the functions  ${}_k\mathcal{E}_j^{k,\gamma,\alpha}(\lambda z)$ , which will be summarized in the following

**Lemma 1.1** *Let  $\alpha$  and  $\gamma$  be complex numbers such that  $\Re(\alpha) > 0, \Re(\gamma) > 0, k > 0$  and  $z \in \mathbb{C} - \{0\}, j \in \mathbb{N}_0$ . Then:*

1.  $D^{\frac{\alpha}{k}} \left[ {}_k\mathcal{E}_j^{k,\gamma,\alpha}(\lambda z) \right] = \lambda k^{-\frac{\alpha}{k}} {}_k\mathcal{E}_{j+1}^{k,\gamma,\alpha}(\lambda z), j \in \mathbb{N}_0$

2.  $(D^{\frac{\alpha}{k}})^j ({}_k e_{\gamma,\alpha}^{\lambda z}) = (\lambda k^{-\frac{\alpha}{k}})^j {}_k\mathcal{E}_j^{k,\gamma,\alpha}(\lambda z)$

For the proof we remit to [2]. We also need the following

**Definition 1.2** *The Riemann-Liouville integral of order  $\nu$  of a function  $f$  is given by*

$$I^\nu f(t) = \frac{1}{\Gamma(\nu)} \int_0^t (t - \tau)^{\nu-1} f(\tau) d\tau; \tag{10}$$

$t \in \mathbb{R}^+, \nu \in \mathbb{C}; \Re(\nu) > 0$ .

**Definition 1.3** *The Riemann-Liouville fractional derivative of order  $\nu$  of a function  $f$  is given by*

$$D^\nu f(t) = \left( \frac{d}{dt} \right)^n I^{n-\nu} f(t); t \in \mathbb{R}^+, n = [\Re(\nu)] + 1. \tag{11}$$

We also note the relationship between the  $k$ -Gamma function and the Pochhammer  $k$ -symbol given by the following

**Proposition 1.4** *Given  $z \in \mathbb{C} \setminus k\mathbb{Z}; k, s > 0$  and  $n \in \mathbb{N}$ , the following identity holds*

1. 
$$(z)_{n,s} = \left( \frac{s}{k} \right)^n \left( \frac{kz}{s} \right)_{n,k} \tag{12}$$

2. 
$$\Gamma_s(z) = \left( \frac{s}{k} \right)^{\frac{z}{k}-1} \Gamma_k \left( \frac{kz}{s} \right) \tag{13}$$

For the proof we remit to Proposition 4 in [5].

## 2 The generalized $k$ - $\alpha$ -Miller-Ross function and some of its properties

Based on the expression (1) that allows us to write the Miller-Ross function as a Mittag-Leffler type function, and by using (9) which contains as particular case the classical Mittag-Leffler function, we have the following

**Definition 2.1** Let  $\alpha$  and  $\nu$  be complex numbers such that  $\Re(\alpha) > 0$ ,  $\Re(\nu) > 0$ , and  $k > 0$ . The  $k$ - $\alpha$ -generalized Miller-Ross function is given by

$${}_{k,j}\mathbb{E}_t^{\alpha,\gamma}(\nu, \lambda) = t^{\frac{\nu}{k}} k^{\frac{\nu}{k}} \sum_{n=0}^{\infty} \frac{(\gamma)_{n+j,k} (\lambda t^{\frac{\alpha}{k}})^n t^{\frac{\alpha}{k}-1}}{\Gamma_k[\alpha n + (\alpha + \nu)] (n+j)!} \quad (14)$$

Easily it can be seen that when  $\alpha = 1$ ,  $k = 1$ ,  $\gamma = 1$ , (14) coincides with (1).

Also, it can be seen that (14) may be expressed as the  $\frac{\nu}{k}$ -integral of the  ${}_k\mathcal{E}_j^{k,\alpha,\alpha}$  function. In fact

$$\begin{aligned} I_{\frac{\nu}{k}} \left[ {}_k\mathcal{E}_j^{k,\alpha,\alpha} \right] (t) &= I_{\frac{\nu}{k}} \left[ \sum_{n=0}^{\infty} \frac{(\gamma)_{n+j,k} \lambda^n t^{\frac{\alpha}{k}(n+1)-1}}{\Gamma_k[\alpha(n+1)] (n+j)!} \right] (t) \\ &= \sum_{n=0}^{\infty} \frac{(\gamma)_{n+j,k} \lambda^n \Gamma\left(\frac{\alpha(n+1)}{k}\right) t^{\frac{\alpha}{k}(n+1)+\frac{\nu}{k}-1}}{\Gamma_k[\alpha(n+1)] \Gamma\left(\frac{\alpha(n+1)}{k} + \frac{\gamma}{k}\right) (n+j)!} \\ &= \sum_{n=0}^{\infty} \frac{(\gamma)_{n+j,k} \lambda^n k^{1-\frac{\alpha(n+1)}{k}} \Gamma_k(\alpha(n+1)) t^{\frac{\alpha}{k}(n+1)+\frac{\nu}{k}-1}}{\Gamma_k[\alpha(n+1)] \Gamma\left(\frac{\alpha(n+1)}{k} + \frac{\gamma}{k}\right) (n+j)!} \\ &= \sum_{n=0}^{\infty} \frac{(\gamma)_{n+j,k} \lambda^n k^{1-\frac{\alpha(n+1)}{k}} t^{\frac{\alpha}{k}(n+1)+\frac{\nu}{k}-1}}{k^{1-\frac{\alpha(n+1)+\nu}{k}} \Gamma_k[\alpha(n+1) + \nu] (n+j)!} \\ &= k^{\frac{\nu}{k}} \sum_{n=0}^{\infty} \frac{(\gamma)_{n+j,k} \lambda^n t^{\frac{\alpha}{k}n + \left(\frac{\alpha+\nu}{k}-1\right)}}{\Gamma_k[\alpha(n+1) + \nu] (n+j)!} \\ &= k^{\frac{\nu}{k}} t^{\frac{\alpha+\nu}{k}-1} \sum_{n=0}^{\infty} \frac{(\gamma)_{n+j,k} (\lambda t^{\frac{\alpha}{k}})^n}{\Gamma_k[\alpha n + (\alpha + \nu)] (n+j)!} \\ &= {}_{k,j}\mathbb{E}^{\alpha,\gamma}(\nu, \lambda) \end{aligned}$$

### 2.1 Special cases of the function ${}_{k,j}\mathbb{E}^{\alpha,\gamma}(\nu, \lambda)$ .

In this paragraph we will show that the function given by (14) fulfills to analogous properties verified by the classic Miller-Ross function.

For particular choices of the values of the parameters, we have the following cases:

1. When  $j = 0$ , we have

$${}_{k,0}\mathbb{E}_t^{\alpha,\gamma}(\nu, \lambda) = k^{\frac{\nu}{k}} t^{\frac{\alpha+\nu}{k}-1} {}_kE_{\alpha,\alpha+\nu}^\gamma(\lambda t^{\frac{\alpha}{k}}), \tag{15}$$

where  ${}_kE_{\alpha,\alpha+\nu}^\gamma(\lambda t^{\frac{\alpha}{k}})$  is the  $k$ -Mittag-Leffler function given by (6).

2. When  $k = \nu = \alpha = 1$ , we obtain

$$E_t(\nu, \lambda) = t^\nu E_{1,\nu+1}(\lambda t) \tag{16}$$

that is the formula (E.36) from [7].

3. For  $\nu = j = 0$

$${}_{k,0}\mathbb{E}^{\alpha,\gamma}(0, \lambda) = t^{\frac{\alpha}{k}-1} {}_kE_{\alpha,\alpha}^{0,\gamma}(\lambda t^{\frac{\alpha}{k}}) \tag{17}$$

$$= t^{\frac{\alpha}{k}-1} {}_kE_{\alpha,\alpha}^\gamma(\lambda t^{\frac{\alpha}{k}}) \tag{18}$$

$$= {}_k e_{\gamma,\alpha}^{\lambda t} \tag{19}$$

which coincides with the  $k$ - $\alpha$ -Exponential function given by (8).

4. When  $t = 0$ ,

$${}_{k,j}\mathbb{E}_0^{\alpha,\gamma}(\nu, \lambda) = 0 \tag{20}$$

5. When  $\lambda = 0$ ,

$${}_{k,j}\mathbb{E}_t^{\alpha,\gamma}(\nu, 0) = \frac{k^{\frac{\nu}{k}} t^{\frac{\alpha+\nu}{k}-1}}{\Gamma_k(\alpha + \nu)j!} \tag{21}$$

6. When  $k = \alpha = \gamma = 1$ ;  $j = \lambda = 0$

$${}_{1,0}\mathbb{E}_t^{1,1}(\nu, 0) = \frac{t^\nu}{\Gamma(\nu + 1)} \tag{22}$$

which coincides with (E.41) from [7] and formula in page 70 of [4].

7. If  $\nu = -\alpha$ , we have

$${}_{k,j}\mathbb{E}_t^{\alpha,\gamma}(-\alpha, \lambda) = \lambda k^{-\frac{\alpha}{k}} {}_{k,j}\mathbb{E}_t^{\alpha,\gamma}(0, \lambda) \tag{23}$$

In fact

$${}_{k,j}\mathbb{E}_t^{\alpha,\gamma}(-\alpha, \lambda) = k^{-\frac{\alpha}{k}} t^{\frac{\alpha-\alpha}{k}-1} \sum_{n=0}^{\infty} \frac{(\gamma)_{n+j,k} (\lambda t^{\frac{\alpha}{k}})^n}{\Gamma_k(\alpha n)(n+j)!}$$

$$\begin{aligned}
&= k^{-\frac{\alpha}{k}} \sum_{n=0}^{\infty} \frac{(\gamma)_{n+j,k} \lambda^n t^{\frac{\alpha}{k}n-1}}{\Gamma_k(\alpha n)(n+j)!} \\
&= k^{-\frac{\alpha}{k}} \sum_{m=-1}^{\infty} \frac{(\gamma)_{m+1+j,k} \lambda^{m+1} t^{\frac{\alpha}{k}(m+1)-1}}{\Gamma_k(\alpha(m+1))(m+1+j)!} \\
&= k^{-\frac{\alpha}{k}} \sum_{m=-1}^{\infty} \frac{(\gamma)_{m+(j+1),k} \lambda^{m+1} t^{\frac{\alpha}{k}m} t^{\frac{\alpha}{k}-1}}{\Gamma_k(\alpha m + \alpha) [m + (j+1)]!} \\
&= k^{-\frac{\alpha}{k}} t^{\frac{\alpha}{k}-1} \lambda \sum_{m=-1}^{\infty} \frac{(\gamma)_{m+(j+1),k} (\lambda t^{\frac{\alpha}{k}})^m}{\Gamma_k(\alpha m + \alpha) [m + (j+1)]!} \\
&= k^{-\frac{\alpha}{k}} t^{\frac{\alpha+0}{k}-1} \lambda \sum_{m=-1}^{\infty} \frac{(\gamma)_{m+(j+1),k} (\lambda t^{\frac{\alpha}{k}})^m}{\Gamma_k(\alpha m + (\alpha + 0)) [m + (j+1)]!} \\
&= \lambda k^{-\frac{\alpha}{k}} {}_{k,j}\mathbb{E}_t^{\alpha,\gamma}(0, \lambda)
\end{aligned}$$

**Remark 2.2** When  $\alpha = \gamma = k = 1$ ; and  $j = 0$  (23) reduces to

$${}_{1,0}\mathbb{E}_t^{1,1}(-1, \lambda) = \lambda {}_{1,0}\mathbb{E}_t^{1,1}(0, \lambda),$$

i.e.

$$E_t(-1, \lambda) = \lambda E_t(0, \lambda), \quad (24)$$

cf. [1], 3.3, pp.49 ; (E.39) from [7], and in page 69 from [4].

8. If  $\nu = -p\alpha$ , it has

$${}_{k,j}\mathbb{E}_t^{\alpha,\gamma}(-p\alpha, \lambda) = \lambda^p k^{-\frac{p\alpha}{k}} {}_{k,j}\mathbb{E}_t^{\alpha,\gamma}(0, \lambda), \quad p = 0, 1, 2, \dots \quad (25)$$

*Proof.*

$$\begin{aligned}
{}_{k,j}\mathbb{E}_t^{\alpha,\gamma}(-p\alpha, \lambda) &= k^{-\frac{p\alpha}{k}} t^{\frac{\alpha-p\alpha}{k}-1} \sum_{n=0}^{\infty} \frac{(\gamma)_{n+j,k} (\lambda t^{\frac{\alpha}{k}})^n}{\Gamma(\alpha n + \alpha - p\alpha)(n+j)!} \\
&= k^{-\frac{p\alpha}{k}} \sum_{n=0}^{\infty} \frac{(\gamma)_{n+j,k} \lambda^n t^{\frac{\alpha}{k}(n+1-p)-1}}{\Gamma(\alpha(n+1-p))(n+j)!} \\
&= k^{-\frac{p\alpha}{k}} \sum_{m=-p}^{\infty} \frac{(\gamma)_{m+p+j,k} \lambda^{m+p} t^{\frac{\alpha}{k}(m+1)-1}}{\Gamma(\alpha(m+1))(m+p+j)!} \\
&= k^{-\frac{p\alpha}{k}} \lambda^p t^{\frac{\alpha}{k}-1} \sum_{m=0}^{\infty} \frac{(\gamma)_{m+p+j,k} (\lambda t^{\frac{\alpha}{k}})^m}{\Gamma(\alpha m + \alpha)(m+p+j)!} \\
&= \lambda^p k^{-\frac{p\alpha}{k}} {}_{k,j}\mathbb{E}_t^{\alpha,\gamma}(0, \lambda)
\end{aligned}$$

**Remark 2.3** When  $\alpha = \gamma = k = 1$ , and  $j = 0$ , (25) reduces at

$$E_t(-p, \lambda) = \lambda^p E_t(0, \lambda), \tag{26}$$

cf. [1], 3.4, pp. 49 and formula in page 70 of [4].

## 2.2 Differentiation

In this paragraph we will show some results of differentiation of the generalized  $k$ - $\alpha$ -Miller-Ross function which generalizes ones already known, for example those shown in [4] and in [9].

**Lemma 2.4**

$$\frac{d}{dt} ({}_{k,j}\mathbb{E}_t^{\alpha,\gamma}(\nu, \lambda)) = {}_{k,j}\mathbb{E}_t^{\alpha,\gamma}(\nu - k, \lambda) \tag{27}$$

*Proof*

$$\begin{aligned} \frac{d}{dt} ({}_{k,j}\mathbb{E}_t^{\alpha,\gamma}(\nu, \lambda)) &= k^{\frac{\nu}{k}} \sum_{n=0}^{\infty} \frac{(\gamma)_{n+j,k} \lambda^n \left(\frac{\alpha}{k}n + \frac{\alpha+\nu}{k} - 1\right) t^{\frac{\alpha}{k}n + \frac{\alpha+\nu}{k} - 2}}{\Gamma_k(\alpha n + \alpha + \nu) (n+j)!} \\ &= k^{\frac{\nu}{k}} t^{\frac{\alpha+\nu-k}{k} - 1} \sum_{n=0}^{\infty} \frac{(\gamma)_{n+j,k} \left(\frac{\alpha n + \alpha + \nu - k}{k}\right) (\lambda t^{\frac{\alpha}{k}})^n}{k^{\frac{\alpha n + \alpha + \nu}{k} - 1} \Gamma\left(\frac{\alpha n + \alpha + \nu - k + k}{k}\right) (n+j)!} \\ &= k^{\frac{\nu}{k}} t^{\frac{\alpha+\nu-k}{k} - 1} \sum_{n=0}^{\infty} \frac{(\gamma)_{n+j,k} \left(\frac{\alpha n + \alpha + \nu - k}{k}\right) (\lambda t^{\frac{\alpha}{k}})^n}{k^{\frac{\alpha n + \alpha + \nu}{k} - 1} \left(\frac{\alpha n + \alpha + \nu - k}{k}\right) \Gamma\left(\frac{\alpha n + \alpha + \nu - k}{k}\right) (n+j)!} \\ &= k^{\frac{\nu}{k}} t^{\frac{\alpha+\nu-k}{k} - 1} \sum_{n=0}^{\infty} \frac{(\gamma)_{n+j,k} (\lambda t^{\frac{\alpha}{k}})^n}{k \Gamma_k(\alpha n + \alpha + (\nu - k)) (n+j)!} \\ &= k^{\frac{\nu-k}{k}} t^{\frac{\alpha+(\nu-k)}{k} - 1} \sum_{n=0}^{\infty} \frac{(\gamma)_{n+j,k} (\lambda t^{\frac{\alpha}{k}})^n}{k \Gamma_k(\alpha n + \alpha + (\nu - k)) (n+j)!} \\ &= {}_{k,j}\mathbb{E}_t^{\alpha,\gamma}(\nu - k, \lambda) \end{aligned}$$

When  $\alpha = \gamma = k = 1$ , and  $j = 0$  (27) reduces at

$$\frac{d}{dt} ({}_{1,0}\mathbb{E}_t^{1,1}(\nu, \lambda)) = {}_{1,0}\mathbb{E}_t^{1,1}(\nu - 1, \lambda) \tag{28}$$

i.e.

$$\frac{d}{dt} (E_t(\nu, \lambda)) = E_t(\nu - 1, \lambda) \tag{29}$$

which coincides with formula (14), of Theorem 3 by Susumu Sakabibara cf[9].

Also, it can be shown that when  $\nu = 1$ , from (29) it results

$$\frac{d}{dt} (E_t(1, \lambda)) = E_t(0, \lambda). \tag{30}$$

2.2.1 Fractional derivative of order  $\frac{\mu}{k}$

**Lemma 2.5**

$$D^{\frac{\mu}{k}}_{k,j} \mathbb{E}_t^{\alpha,\gamma}(\nu, \lambda) = {}_{k,j} \mathbb{E}_t^{\alpha,\gamma}(\nu - \mu, \lambda) \tag{31}$$

*Proof*

$$\begin{aligned} D^{\frac{\mu}{k}}_{k,j} \mathbb{E}_t^{\alpha,\gamma}(\nu, \lambda) &= k^{\frac{\nu}{k}} \sum_{n=0}^{\infty} \frac{(\gamma)_{n+j,k} \lambda^n D^{\frac{\mu}{k}} \left( t^{\frac{\alpha}{k}n + \frac{\alpha+\nu}{k} - 1} \right)}{\Gamma_k(\alpha n + (\alpha + \nu)) (n + j)!} \\ &= k^{\frac{\nu}{k}} \sum_{n=0}^{\infty} \frac{(\gamma)_{n+j,k} \lambda^n \Gamma\left(\frac{\alpha n + \alpha + \nu}{k}\right) t^{\frac{\alpha}{k}n + \frac{\alpha+\nu}{k} - \frac{\mu}{k} - 1}}{\Gamma_k(\alpha n + (\alpha + \nu)) \Gamma\left(\frac{\alpha n + \alpha + \nu}{k} - \frac{\mu}{k}\right) (n + j)!} \\ &= k^{\frac{\nu}{k}} t^{\frac{\alpha+\nu-\mu}{k} - 1} \sum_{n=0}^{\infty} \frac{(\gamma)_{n+j,k} \lambda^n t^{\frac{\alpha}{k}n}}{k^{\frac{\mu}{k}} \Gamma_k(\alpha n + (\alpha + \nu - \mu)) (n + j)!} \\ &= k^{\frac{\nu-\mu}{k}} t^{\frac{\alpha+\nu-\mu}{k} - 1} \sum_{n=0}^{\infty} \frac{(\gamma)_{n+j,k} \lambda^n t^{\frac{\alpha}{k}n}}{\Gamma_k(\alpha n + (\alpha + \nu - \mu)) (n + j)!} \\ &= {}_{k,j} \mathbb{E}_t^{\alpha,\gamma}(\nu - \mu, \lambda) \end{aligned} \tag{32}$$

From (32), if  $k = \alpha = \gamma = 1$ , and  $j = 0$ , we have

$$D^{\mu}_{[1,1]} \mathbb{E}_t^{1,1}(\nu, \lambda) = {}_{1,1} \mathbb{E}_t^{1,1}(\nu - \mu, \lambda), \tag{33}$$

or equivalently

$$D^{\mu} E_t(\nu, \lambda) = E_t(\nu - \mu, \lambda) \tag{34}$$

**Corollary 2.6** *If  $\mu = \alpha$  is considered, from (32) we have*

$$D^{\frac{\alpha}{k}}_{k,j} [{}_{k,j} \mathbb{E}_t^{\alpha,\gamma}(0, \lambda)] = {}_{k,j} \mathbb{E}_t^{\alpha,\gamma}(-\alpha, \lambda), \tag{35}$$

and from (23)

$${}_{k,j} \mathbb{E}_t^{\alpha,\gamma}(-\alpha, \lambda) = \lambda k^{-\frac{\alpha}{k}} {}_{k,j} \mathbb{E}_t^{\alpha,\gamma}(0, \lambda). \tag{36}$$

Then, it results

$$D^{\frac{\alpha}{k}}_{k,j} [{}_{k,j} \mathbb{E}_t^{\alpha,\gamma}(0, \lambda)] = {}_{k,j} \mathbb{E}_t^{\alpha,\gamma}(-\alpha, \lambda) = \lambda k^{-\frac{\alpha}{k}} {}_{k,j} \mathbb{E}_t^{\alpha,\gamma}(0, \lambda) \tag{37}$$

If in (37)  $k = \alpha = \gamma = 1$ ,  $j = 0$  is considered, we have

$$D E_t(0, \lambda) = E_t(-1, \lambda) = \lambda E_t(0, \lambda) \tag{38}$$



### 2.3 Integration of $k$ - $\alpha$ -Miller-Ross function.

**Lemma 2.7**

$$\int_0^t {}_{k,j}\mathbb{E}_u^{\alpha,\gamma}(\nu, \lambda) du = {}_{k,j}\mathbb{E}_t^{\alpha,\gamma}(\nu + k, \lambda), \quad \Re(\nu) > -k. \quad (39)$$

*Proof.*

Taking into account that

$$\int_0^t u^{\frac{\alpha}{k}n + \frac{\alpha+\nu}{k} - 1} du = \frac{t^{\frac{\alpha}{k}n + \frac{\alpha+\nu}{k}}}{\frac{\alpha}{k}n + \frac{\alpha+\nu}{k}} \quad (40)$$

we get

$$\int_0^t {}_{k,j}\mathbb{E}_u^{\alpha,\gamma}(\nu, \lambda) du = k^{\frac{\nu}{k}} t^{(\frac{\alpha+\nu}{k} + 1) - 1} \sum_{n=0}^{\infty} \frac{(\gamma)_{n+j,k} \lambda^n t^{\frac{\alpha}{k}n}}{\Gamma_k(\alpha n + (\alpha + \nu)) \left(\frac{\alpha n + \alpha + \nu}{k}\right) (n + j)!} \quad (41)$$

But

$$\Gamma_k(\alpha n + (\alpha + \nu)) = k^{\frac{\alpha n + \alpha + \nu}{k} - 1} \Gamma\left(\frac{\alpha n + (\alpha + \nu)}{k}\right); \quad (42)$$

Then

$$\begin{aligned} & \Gamma_k(\alpha n + (\alpha + \nu)) \left(\frac{\alpha n + \alpha + \nu}{k}\right) = \\ & = k^{\frac{\alpha n + \alpha + \nu}{k} - 1} \Gamma\left(\frac{\alpha n + (\alpha + \nu)}{k}\right) \left(\frac{\alpha n + \alpha + \nu}{k}\right) \end{aligned} \quad (43)$$

$$= k^{\frac{\alpha n + \alpha + \nu}{k} - 1} \Gamma\left(\frac{\alpha n + (\alpha + \nu)}{k} + 1\right) \quad (44)$$

$$= k^{\frac{\alpha n + \alpha + \nu}{k} - 1} k^{1 - \frac{\alpha n + \alpha + \nu + k}{k}} \Gamma_k(\alpha n + (\alpha + \nu + k)) \quad (45)$$

$$= k^{-1} \Gamma_k(\alpha n + (\alpha + \nu + k)) \quad (46)$$

Then

$$\begin{aligned} \int_0^t {}_{k,j}\mathbb{E}_u^{\alpha,\gamma}(\nu, \lambda) du & = k^{\frac{\nu+k}{k}} t^{\frac{\alpha+\nu+k}{k} - 1} \sum_{n=0}^{\infty} \frac{(\gamma)_{n+j,k} (\lambda t^{\frac{\alpha}{k}})^n}{\Gamma_k(\alpha n + \alpha + \nu + k) (n + j)!} \\ & = {}_{k,j}\mathbb{E}_t^{\alpha,\gamma}(\nu + k, \lambda) \end{aligned} \quad (47)$$

When  $k = j = \alpha = \gamma = 1$ , (47) coincides with [4].

**Lemma 2.8** *If  $\Re(w) > -k$ , and  $\Re(\nu) > -k$*

$$\int_0^t u^w {}_{k,j}\mathbb{E}_{t-u}^{\alpha,\gamma}(\nu, \lambda) du = \Gamma_k(kw + k) {}_{k,j}\mathbb{E}_t^{\alpha,\gamma}(\gamma + kw + k, \lambda) \quad (48)$$

*Proof.*

Let consider the integral

$$\int_0^t u^w (t-u)^{\frac{\alpha+\nu}{k}-1+\frac{\alpha}{k}n} du = \underbrace{\int_0^t u^{(w+1)-1} (t-u)^{\frac{\alpha+\nu+\alpha n}{k}-1} du}_* \tag{49}$$

by calling:  $w + 1 = x$ , and  $\frac{\alpha+\nu+\alpha n}{k} = y$ , then

$$* = \underbrace{\int_0^t u^{x-1} (t-u)^{y-1} du}_{**} \tag{50}$$

making the change of variables:  $\frac{u}{t} = T$ ,  $du = t dT$

$$** = \int_0^1 (tT)^{x-1} t^{y-1} (1-T)^{y-1} t dT \tag{51}$$

$$= t^{x+y-1} \int_0^1 T^{x-1} (1-T)^{y-1} dT \tag{52}$$

$$= t^{x+y-1} B(x, y) \tag{53}$$

$$= t^{x+y-1} \frac{\Gamma(x)\Gamma(y)}{\Gamma(x+y)} \tag{54}$$

$$= t^{w+1+\frac{\alpha+\nu+\alpha n}{k}} \frac{\Gamma(w+1)\Gamma\left(\frac{\alpha+\nu+\alpha n}{k}\right)}{\Gamma\left(w+1+\frac{\alpha+\nu+\alpha n}{k}\right)} \tag{55}$$

$$= \frac{k^{w+1}\Gamma(w+1)\Gamma_k(\alpha n + \alpha\nu)}{\Gamma_k(\alpha n + \alpha + \nu + kw + k)} \tag{56}$$

Then

$$\int_0^t u^w {}_{k,j}\mathbb{E}_{t-u}^{\alpha,\gamma}(\nu, \lambda) du = k^{\frac{\nu}{k}+w+1}\Gamma(w+1)t^{\frac{\alpha+\nu}{k}+\frac{w+k}{k}-1}k^{-w} \tag{57}$$

$$\times \sum_{n=0}^{\infty} \frac{(\gamma)_{n+j,k} \left(\lambda t^{\frac{\alpha}{k}}\right)^n}{\Gamma_k(\alpha n + \alpha + \nu + kw + k) (n+j)!} \tag{58}$$

$$= \Gamma_k(kw + k)k^{\frac{\nu+k}{k}} t^{\frac{\alpha+nw+w+k}{k}-1} \tag{59}$$

$$\times \sum_{n=0}^{\infty} \frac{(\gamma)_{n+j,k} \left(\lambda t^{\frac{\alpha}{k}}\right)^n}{\Gamma_k(\alpha n + \alpha + \nu + kw + k) (n+j)!} \tag{60}$$

$$= \Gamma_k(kw + k) {}_{k,j}\mathbb{E}_t^{\alpha,\gamma}(\gamma + kw + k, \lambda) \tag{61}$$

If  $k = 1$ , we have

$$\int_0^t u^w E_{t-u}(\nu, \lambda) du = \Gamma(w+1)E_t(\nu + w + 1, \lambda) \tag{62}$$

that coincides with formula in page 69 of [4].

## Conclusion

We have introduced a generalization of the classical Miller-Ross function doing it by rising the  $k$ -Gamma function and the Pochhammer  $k$ -symbol.

Elementary properties were demonstrated as well as known particular cases were obtained.

## References

- [1] J. Ávalos Rodríguez, The Miller-Ross function and Mittag-Leffler function (Notes), *Soft Jar–Mathematical Notes*, (2009), 45-53.
- [2] R.A. Cerutti, L.L. Luque,  $k$ - Fractional trigonometric functions, *Int. J. Contemp. Math. Sciences*, **9** (2014), no. 12, 569-578.  
<http://dx.doi.org/10.12988/ijcms.2014.4885>
- [3] R.A. Cerutti, L.L. Luque, The  $k$ - $\alpha$ -exponential function, *Int. J. of Math. Analysis*, **7** (2013), no. 11, 535-542.
- [4] S. Das, *Functional Fractional Calculus*, Springer, 2011.  
<http://dx.doi.org/10.1007/978-3-642-20545-3>
- [5] R. Díaz, E. Pariguan, On hypergeometric function and Pochhammer  $k$ -symbol, *Divulgaciones Matemáticas*, **15** (2007), no. 2, 179-192.
- [6] G.A. Dorrego, R.A. Cerutti, The  $k$ -Mittag-Leffler function, *Int. J. Contemp. Math. Sciences*, **7** (2012), no. 15, 705-716.
- [7] F. Mainardi, *Fractional Calculus and Waves in linear viscoelasticity: An introduction to Math. Models*, Imperial College Press, 2010.  
<http://dx.doi.org/10.1142/9781848163300>
- [8] K. Miller, B. Ross, *An Introduction to the Fractional Calculus and Fractional Differential Equations*, John Wiley, 1993.
- [9] S. Sakakisbara, Fractional derivative models of damped oscillations, School of Information Environment, Tokyo Denki University, (2004), 65-76.

**Received: July 21, 2016; Published: September 1, 2016**